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Remember to vote!!!
1. (6 points)  A chemical engineer studying the properties of fuels placed 1.500 g of a hydrocarbon in a calorimeter and filled it with O2 gas.  The calorimeter contained 2.500 L of water and the heat capacity of the calorimeter was 403 J/K (excluding water).  The temperature of the system rose from 20.00oC to 23.55oC.  What is the heat of combustion of the hydrocarbon in J/g?  (specific heat of water = 4.184 J/g K)
2. (6 points) Diamond and graphite are two crystalline forms of carbon.  At 1 atm and 25oC, diamond changes to graphite so slowly that the enthalpy change of the process must be obtained indirectly.  Determine (Hrxn for 


C(diamond)  (  C(graphite)

With equations from the following list

C(diamond) + O2(g)  (  CO2(g)

(H = -395.4 kJ

2 CO2(g) ( 2 CO(g)  +  O2(g)

(H = +566.0 kJ

C(graphite)  +  O2(g)  (  CO2(g)

(H = -393.5 kJ

2 CO(g) (  C(graphite)  +  CO2(g)

(H = -172.5 kJ
3. (6 points) Determine the energy of the following reaction using bond energies (look on your periodic chart)
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4. (2points) Predict the sigh of (S for 
a. a piece of ice melting

b. Dew forming
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